1 as an exponent: Any number raised

For every number a, to the first power =
itself

al=a2a

If there is no exponent on a number it
Is assumed to be 1

any number, a, to the
39 = 1 zero power equals 1

EXGERT
a can't be zero.



any number, a,

raised to a negative

a" integer power is the
reciprocal of that
number to the positive
power.

a"=

EXCEPT a can't
be zero.

Simplify each. Make sure exponents aren't negative or zero.
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Evaluate each expression for a= -4, b=6, and c¢= -2. Give fractional answers

in reduced form (no decimals).
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Evaluate each expression for a= -4, b=6, and c= -2. Give fractional answers

in reduced form (no decimals). ' LP
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Evaluate each expression for a= -4 b=6, and c= -2. Give fractlonal answers

in reduced form (no decimals). Z
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Fill in the next number in
the right-hand column

g 2% (16
e O .
S e
gg 23| 8
ba 2
>:5><
d? % 5
Eeel| 2| 4
EEE
>0

o 1
288]| 21| 2

201 1

any number, a, to the
zero power equals 1
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EXCEPT.
a can't be zero.
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Simplify each. Write your answer so that no

exponents are zero or negative.

Take a small white board.
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Evaluate each for P = -3 O = 6. Leave non-integer answers as a fraction in
reduced form. |
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No Bookwork for Friday!

IXL #6 - V.1 & V.3 due tomorrow by 4pm!



